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BECC-131 : PRINCIPLES OF MICROECONOMICS 1

Time : 3 hours Maximum Marks : 100

Note: Answer questions from each section as per

instructions.

SECTION 1

Answer any two questions from this section in about
500 words each. 2x20=40

1. (a) What is a market demand curve ? Explain

using a diagram. 5

(b) What are the components of the price
effect ? Comment on the strength and sign
of these components in case of a

Giffen commodity. 15
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2. (a)

(b)

3. (a)

(b)

Define and illustrate the relationship
between the marginal cost, average

variable cost and average total cost curves.

Long-run average cost curve envelopes a
family of short-run average cost curves.

Explain using appropriate diagrams.

Discuss the law of variable proportions

using appropriate diagram.

What are the reasons behind varying
returns viz increasing, constant and
decreasing returns to a factor in

production ?

Given the equation

Q=a+bP @),

where Q stands for quantity of a commodity and

P for price of that commodity, ‘a’ and ‘b’ represent

any constant number, answer the following

questions :

(a)
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Is the given equation, a demand or a supply

equation ? Give reason for your answer.

10

10

10

10



(b) Now consider another equation :

Q=c—-xP ,

here again Q stands for quantity of a
commodity and P for price of that
commodity, ‘¢ and ‘X’ represent any
constant number. Determine the equivalent

price and quantity of the commodity. 8

(c) Ifa=4,b=2 ¢c=24 and x = 3, then what
will be the values of equilibrium price (P*)
and quantity (Q*) ? 6
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Answer any four questions from this section.

5.

SECTION II

Distinguish between contraction in supply and
decrease in supply of a commodity. Explain the

4x12=48

reasons for change in supply of a commodity. 6+6=12

‘Cardinal utility analysis is not free from
criticism.” Comment.

Explain with diagram the expansion path in case
of non-linear production function and linear
homogeneous production function.

Given the figure below where capital (K) and
labour (L) are the factors of production,
producing output I;, I, and I that represent
isoquants for output levels 100, 200 and 300
units respectively.

=
E I3 =300
§ I, =200
I, =100
0 Labour (L)

(a) Identify the returns of scale represented by
the above set of isoquants. What are the
factors that bring in such returns to scale ?

(b)  Discuss the various types of real internal
economies.
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9. (a) Draw a production possibility curve. What
is the slope of this curve ? 4

(b)  Mark in the same figure when (i) resources
are underutilised; and (ii) when resources

are efficiently utilized. 4

(¢) What can bring a shift in the production

possibility curve ? 4

10. What is the rationale behind rationing system for
allocation of scarce resources ? Also discuss
the associated consequences of the rationing

system. 6+6=12
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SECTION III

11. Make distinction between any three of the
following pairs : 3x4=12

(a)  Accounting cost and Economic cost

(b) Stock wvariable and Flow wvariable in
economic analysis

(¢) Income effect and Substitution effect
(d) Static analysis and Dynamic analysis

(e)  Public goods and Private goods
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2 :  [3IER I79% 9T & J¥I % I e |

Qs 1

7 @Ue & fa @ Y & I TTYT 500 Fsd!
(%) 7 171 | 2x20=40

1. (%) SR O dsh 1 8 2 Th o o1 TN hid
BT AT HIT | 5

(W) W GWE % HH HATEId & ? Th 16 a%g
% HeH 34 UThi shl WUH TaAdl I 3
foml w fewoft Hifvrg | 15
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2. (%) Hwa «rmE, siad aiedt @ra qen fed
FA AN Tshi hl TN qd §Y 3 Hed
TaY W IR IIAT | 10

(@) i fEa ATa dsh STeUshlictsh 3Td
AN Fhl & Ueh THE I THERMT Hdl 2 |
ST ARG BT WA R FHhI AT
HIT | 10

3. (%) 3IUIH ARG I TN H g FIITA b
Frm <t ==t fhifsw | 10

(@) 3dmed H fRet wRe % ghgAM, foR w@
BEH qiEdi Ifawal & U S8 SR
IR B1d 8 2 10

4, T THIHUT 36 ThR B :

Q=a+bP @),
SR Q g <l HET q«T P 9%] I hHd 7, @’ W@
b T R B | 39 MR W fciied w41
Waﬁlﬁ:
(%) A1 98 GHIU T WA GHIRWT B A
Y TR ? 379 I o [T SRV FA13¢ | 6
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(@) ws = g W o faem AR
Q=c-xP (B),
W&l W Q I 1 AT G P o shl hiwd B,
‘¢ W@ ¥ o e § | o avg I Eqed
Hivd v wrEn Fatfa Fife | 8

(M) AR a=4b=2c=243Mx=37,
T hHd P AT e AT QF o W T
g 2 6
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e 11
349 G & [#-5] R J991 & I o7&y | 4x12=48

5. Torelt a%g 1 TY(d o = a MY ! A= H
HH % 9 Wg Toe HiU | ag K mgfd H

gREd % RO 6l ST HIRT | 6+6=12
6. TUHETE ITIfial fovelNur s ¥ g AR
7 I feraoft i | 12

7. Tk WAGH IUET ®ad 991 Tk e g9&y
3IcUTeH Held o YHR 9Lt hl gies samean i | 12

8. frfciRed fam & It (K) @9 o1 (L) g0 3camed
= TwseE 9% 1, 1, 31 I, g0 o9e ¢ § | $h
3IcqTeT T SHAT : 100, 200 3T 300 $H1EAT & |

)
f@ I = 300
)
I, = 200
I; = 100
0 9 (L)

(%) THIIE i o IUYTH U g EW T I
% ufdwal H ggEH HIT | W YEE *
gfaweti o o STegrRl %Res =1 B 3 2 6
(@) foafte yor i areafaes i fqeatiaren
==t IR | 6
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9. (%) TH 3cqTed G HHT 9k 18T | 39 oIsh
1 T FT BNl B 2 4

(@) s o= # quiise (i) 919 SEEET 1 379 TR

B, AU (i) T GEEAT 1 3nvfise (qe1) v

| 4
() IcqTeH IUTSAT HUT Gk I F S0 @
el 8 2 4

10. AW GHIEA] o 3T H UIH HeEdT Hl ThIUR
FT BT 8 2 WA F TRE FGEAT § Jg INOmH W
ot ==t I | 6+6=12
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11. Fafafaa & @ el a7 i § 3=’ 95T : 3x4=12
(%) @1 AN 3R AT AT
(@) oTfdieh foavarmur & wefeh =X 37 JaTg =R
() 3 Y9I AR AT quTe
() = foaveror we e faveo
(¥) wEHe gered 3 et uered (Public goods

and Private goods)
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